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General Instructions :

(i)  All questions are compulsory.

(ii) Questions number 1 — 5 are of 1 mark each. The answers to these questions should

not exceed 20 words each.

(iii) Questions number 6 — 10 are of 2 marks each. The answers to these questions

should not exceed 40 words each.

(iv) Questions number 11 — 16 are of 4 marks each. The answers to these questions

should not exceed 100 words each.

(v)  Questions number 17 — 21 are of 5 marks each. The answers to these questions

should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22 — 27 are of 6 marks each. The answers to these questions

should not exceed 150 words each.

1. TS T QN g oet 9 § fasafdqal sl IRUT ST, MR & folt el deh =i o 2 1

How far was it justified on the part of India to give asylum to Dalai Lama and a large
number of Tibetans ?

2. QAT % ST i SR FTel Ueh STE0T ST | 1

Give an example to illustrate the globalization of services.

3. Heol AR Bl B U 3 TF Y KT T & 9 2xY=1
Which two major tasks were given to the Mandal Commission ?

4. o] VIfeRT & o STeg, ST TeTIeRTar 3 O TR W g I Fél TR 2 1
Inspite of possessing nuclear power, why didn’t both the super powers go for a full-
fledged war ?

5. ‘U WEl I B FHR I FAl el T 2 1

Why was the ‘First Gulf War’ called a ‘Computer War’ ?

6. SfcH-RER I I T&T ¥ T A7 ? AfeH-R1aR 69 [aaRerT =i o ot 2 1+1=2
What was the main objective of building the Berlin Wall ? What did it symbolize ?
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7. U FERar @ foee S % FeR g IRAE A q9n $iy ger omtaat s
STAHA o & HRUT T [TLATT HIT | 2

Analyse the main reason for the failure of Indian planning and the agrarian strategy in
solving the massive problem of rural poverty.

8.  Toue a7iRier & foheel ]1 3R ST (ST Tl IR HIT | 2x1=2

Highlight any two most novel aspects of the Chipko Movement.

9. Toforrm 1 YRA & UICFERS FT Tl ST &1 2 2
Why was Sikkim called a ‘protectorate’ of India ?

10. 9 FHIET SAledr 4 IShUHaE ol TR0 o G § i §1 Yegifes deb a7 21 2 2

What was the theoretical argument in defence of the concept of non-congressism as
given by Ram Manohar Lohia ?

11. SMETIT. &l fa%gd T F1 & 2 T ST Ha g8 o ? TP el 3 TF 29T T Sooid
T | 1+1+2=4

What does 1.A.E.A. stand for ? When was it established ? Mention any two of its
main objectives.

12. UIRed™ H 9= 36 & Tl HerEeh fohal T sheh! ol Sooid T | 4x1=4

Mention any four factors that have helped military rule in Pakistan.

13. AT i Ueh foraeres fawe sl que ST &, STkt et T o giar o & @ E 2 4

Why is globalization considered a contentious subject that has invited strong criticism
all over the world ?

14, 9RA SiE Ul 3T-=meen | P K ST d ¥ had, s SHTee offie ST =feT aer
ERI 4
Which one between agriculture and industry should attract more resources in a
backward economy like India and why ?

15. RA % 371k fashra & gRa shifq 21 9 shifq & IRIEH i JoiT HitT | 2+2=4

Compare the role played by the Green Revolution and the White Revolution towards
economic growth of India.

16. 1975 o ST & ToRIY TT UTRIY i (el IR Mdiareal sl 3SR ST | 4x1=4

Highlight any four acts of dissent and resistance to the Emergency imposed in 1975.
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17.

e (J)c New Qork Eimes =

BT, CAPNESOAY. ST 3 e

- US. ATEACKED

HIJACKED JETS DESTROY TWIN TOWERS
AND HIT PENTAGON IN DAY OF TERROR

whw%ww@wmﬁﬁqwﬁmﬁf&anﬁ%wﬁﬁq
(i)  3TIETTHTT B & 3R SBIH 30 §HCT Bl HY 3T 7 2

(i) T T 9
(iil)  STERIeRT HaNTgET i Sgel I ATl $& FeAT Sl ot qaated [ I Hewaqul Herst
T BT T Tl & 2 2+1+2=5

Study the picture given above carefully and answer the following questions :
(1)  Who were the hijackers and how did they conduct the attack ?
(i) What is Pentagon ?
(ii1)) In terms of their shocking effect on the Americans, the 9/11 attacks can be
compared to which two other important earlier incidents ?
A Fafafad T wae gieartaa weniea & fag o 3@ 17  ©HE W E | 2+41+2=5
(17.1) 9/11 I 3TCIhaTg & foreeg TovareaTdt I T el STl & 2
(17.2) 9/11 T ST UR Tohg STTHAUT {2
(17.3) 9/11 =t TAT T STalTel STERIHT F fohd U T 2
Note : The following questions are for the visually impaired candidates only in lieu of
Question No. 17.
(17.1) Why 1s 9/11 called the ‘Global War on Terror’ ?
(17.2) Who carried out the attack on the U.S. on 9/11 ?
(17.3) How did the U.S. respond to the incident of 9/11 ?
59/1/3 4




18. TT=fefEd STadior sl eqgdeh Uigy 3R 915 | ST T UeAT o 3T ST

et T #i foRer Aifq ¥ 3TF S/EAl AR TR TUHRI H A HeAdt & | IR 6
AT SR 59 3T [aRT ¥ URa o7 S 3T 9RA @ O Afd w oo ugr |
TETETA, VR I T oo SASTRT Bt g8 39 9Hd Iads &1 SR) off & & I o7 |
IgE o 3R H ST 6 ST & Bl H 9 W o | U WH I SFET WgFT o9 AL AT
3R TEL T Wiiodd G | JHT THT o & fovear U3 3T, ST 31K =T Zoh0d STRY
a7 | SE 3R T WY T T o ST T ST, W] BN T I gam, o |
FHR T T SO g8 | SHIIORIERR0T i Fishar off g6l SR o 3R g5 o | 9IRd &
TS T SO T o TH WEH & S H WEA & |

() eI & S arel &1 T2 B §, YR fhar off sk | Infier i e g 2
(i) TP ST U8y W, YR 319 U &l T & d 7@ 2

(iii) T feal P G HA Al FEE i fager Afd %, el 1 T 329l B IR
HIfT | 2+41+2=5

Study the following passage carefully and answer the questions that follow :

The foreign policy of a nation reflects the interplay of domestic and external factors.
Therefore, the noble ideals that inspired India’s struggle for freedom influenced the
making of its foreign policy. But India’s attainment of independence coincided with
the beginning of the Cold War era. This period was marked by the political, economic
and military confrontation at the global level between the two blocs led by the
superpowers, the US and the USSR. The same period also witnessed developments
like the establishment of the UN, the creation of nuclear weapons, the emergence of
Communist China and the beginning of decolonization. So, India’s leadership had to

pursue its national interests within the prevailing international context.

(1)  Why did India not join any of the two blocs led by the Superpowers ?

(i) How did India look after its national interests within the prevailing international
context ?

(1) Highlight any two major objectives of Nehru’s foreign policy, as a safeguard to

our national interests.
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19.

59/1/3

IR & 5T T qeriae Y@-aFtes |, 9 o9 6 @ , @ @ aﬁT@ R
fafera fFar T & 1 T § T TEHRI F IMER W, TR TEAH i 3T 0T ST
Rt B 3 TS o Tl 1Y, Fated SR st shaaEt adr fafed 3rR afed foafau |

In the political outline map of India given below, five States have been marked as

@, , @, @ and @ Identify them on the basis of the information given

below and write their correct names in your answer book along with their respective
serial numbers of the information used and the alphabet concerned.
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() Taus! TR ¥ SEtyd T |
(i) TR 3T i ST &7 T |
(il) 3feTa YU =t TUAT e T |

(iv) THST IR WIS aret 59 |

(v) Ea. TERETHE A H I T | 5x1=5

(1)  The State related to Chipko Movement.

(1)) The State of origin of Naxalite Movement.

(iii) The State where ‘Dalit Panthers’ was formed.

(iv) The State where Narmada Sagar Project is located.

(v) E.V.Ramaswami Naicker’s home State.

Az fAfafed T Faa ghieartaa wianfaat & fow, 9w @ 19 % ©HE W T
TAfeRad weT & 3T ey

(19.1) TrgeraTe! Yot TR fohg T | & 2

(19.2) IR fFam IFa i oA fohd 59 1 g8 2
(19.3) dTel ferIelt idie 1 g & o T & a1 9
(19.4) 3@ Tewg 3Te5eeT 1 T8 159 i 9T 4T 2

(19.5) 1963 T HF T T T AT 2T T 2 5x1=5

Note : The following questions are for the Visually impaired Candidates only, in lieu
of Question No. 19. Answer the following questions :

(19.1) Naxalbari police station is located in which State ?
(19.2) In which State was Bhartiya Kisan Union formed ?

(19.3) Which State was the main area of functioning for the Anti-Arrack

Movement ?
(19.4) Name the home state of Sheikh Mohammad Abdullah.
(19.5) Which State was created in 1963 ?
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20. T=TIRET TN i LAFYEF TIEU T TR ST dTet U1 o IR JMT -

Iigg % STR-STSTHTEeT, A Tede e YIfd-Tder T HHeT 9 Fal o1 afeh
T -9 [TaRERT 3 ¥R W Al U ardioss 999 SR} 47 | fo=RaRT S ASE 39 9
I TR ot foF T e § Teites, SN iR AT Ste i goeg T o 9ad JEe
Togia & Q1 & | TiYaHl TISEeE T SR SRR o7 31K g ... foaRun & wmes
o7 | Ya TS T ST Wiadd T o7 3R 9 e Bl Ufaaigdr. ... foaneRy & faw o |

() ¥ ZF & folT STRITET GIaan i F 3 HRb o 2
(i) UTSaHr s T TaaRRT o1 UidTTded shear o1 2
(i) AT e fRe foameRT | uider ot 2

(iv) TUSICA fova 1 Iid J5 T T T =T et 2 2+1+1+1=5

Study the passage given below carefully and answer the questions that follow :

The Cold War was not simply a matter of power rivalries of military alliances and of
the balance of power. These were accompanied by a real ideological conflict as well,
a difference over the best and the most appropriate way of organizing political,
economic and social life all over the world. The Western Alliance, headed by the US,
represented the ideology of .......... while the Eastern Alliance, headed by the Soviet

Union was committed to the ideology of ............

(1)  Which two factors were mainly responsible for the Cold War ?
(1) What type of ideology did the Western Alliance represent ?
(1) The Eastern Alliance was committed to which ideology ?

(iv) What was the main advantage of the Cold War to the contemporary world ?
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21. TH=Teiad STadRor Sl SFMYe TieT qer e ST T 0o & 3T I

T qHA T 170 <90, TSTRT WRHe! GTe T 3T Sgased et = 9 fofr | 39 Te
T U Tt Tt (1987) 3T6R HE HEX Y adeis KU out of | Ruie & = mar o
T enfaes fashm & =] dR-RiSh 3 TeTehy feshTss Qifad &t &nl | fava & sl feg o
AenfiTe forshra ot | SaTeT Yoot € SR Rie 7 36t garet § =dedr & 78 o | 39 o
H I 1T Gorsh? T RN 6 fovd o ot SR forshiaa 397 A STl Mells, a9 TR 3R
ToepTaeier IT AT IR Mot TATEROT o STHT-3ToRT 31518 % URIR & | ST 390 i e
oaT ST A o 8% 3R ATV Auglg (AT SIET) I T o | IRTON I9T SR
Taepra SiX TaTeReT vee & SEr Red S Gerer & fore st fafad o |

()  SWI TR Y o TAT bl T= B TS E 2
(i) v fowa g g faver o S1-87 591 & AW f@Ey |
(i) TR faPra & URURE UfdEal H SRR gte ¥ Tad AT F= e guet

STt ?

1+2+2=35
Read the following passage carefully and answer the questions that follow :

This summit was attended by 170 states, thousands of NGOs and many multinational
corporations. Five years earlier, the 1987 Brundtland Report. Our Common Future,
had warned that traditional patterns of economic growth were not sustainable in the
long term, especially in view of the demands of the South for further industrial
development. What was obvious at this Summit was that the rich and developed
countries of the First World, called the ‘global North’, were pursuing a different
environmental agenda than the poor and developing countries of the Third World,
called the ‘global South’. Whereas the Northern states were concerned with ozone
depletion and global warming, the Southern states were anxious to address the

relationship between economic development and environmental management.
(i)  Which summit has been referred to in the passage given above ?
(i) Name two countries each from the First World and the Third World.

(1) Why were the traditional patterns of economic growth not considered to be

sustainable in the long term ?
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22. T WHR T AIUNART & Srd ZhUel o [T STREE! TRl sl T T | 6

rerar
1967 o = 3T TS % GHA, I H gT UREH! Sl ST HIFAT | 6

Explain the circumstances that were responsible for the confrontations between the

Union Government and the Judiciary.

OR
Explain the major changes which the country witnessed at the time of Fourth General

Election in 1967.

23. TIF AT &F UG Sl GeAldg BT a2l 395 F {6l 31 F HAt Hau DT | 2+4=6
et
T GR&TT I TRUNE STTERUN & [l o= Heehl 31 JUH iU | 3x2=6

List the principal organs of the United Nations and describe the functions of any two

of them.
OR

Describe any three components of the traditional notion of external security.

24. IR S SRR ST § S TR & el S STl Hl Sooid HifT | 6x1=6
Jreran
YR S Toremet 397 1 TehaT & g | are o forw, fafauar & uid Awdies gl st
AT T FUH HiT | 6

Mention any six advantages of popular movements in a democratic set up like

India.

OR
Describe the usefulness of the democratic approach to the question of diversity to
unite a large country like India.
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25. U G a2 aeRIcHe Tesd & 9 U, HiUH UTe] i HEAUUTA! Hl eyt Hifsu | 6
~C)
IR ¥ T faepr o urifves I o aRoTHT ST 3ot hifsTe | 6
Analyse the functioning of the Congress Party as a social and ideological coalition.

OR

Assess the outcomes of the early phase of planned development in India.

26. TG FE F ST TAT ISHITH T T FEReAToT ity | 3+3=6
arar
TR 3R UIHEA o sie q1el o fohwal o= &= ST URIeT0T HifTT | 3x2=6

Analyse the economic and political influence of the European Union.
OR

Examine any three major areas of conflict between India and Pakistan.

27. 1 I AR Wehe T AT ? T A BIH I o HSAISHA h SATAT HIT | 2+4=6
YAt
[iferad 9g & faeed & [T Mg Fal d% ISR 41 2 ST Hifeg | 6

What was meant by Cuban Missile Crisis ? Explain the course of events till it got

resolved.

OR
How far was Gorbachev responsible for the disintegration of the Soviet Union ?

Explain.
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